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Is the time of Segway over because of electric scooters?
It failed to live up to any of the marketing hype. It didn&#39;t revolutionize t

ransportation, didn&#39;t even become popular. It has been limited to mall secur

ity and occasional urban guided tour. It will likely remain firmly in those nich

es.
Scooters are way more popular than Segway has ever been. The novelty is wearing 

off, though - I am not seeing as many of them around. Maybe it&#39;s the snow on

 the ground that is doing it.
j&quot;&quot;&gt; to &quot;It&#39;s top-data, L.
 S&amp;C.
 In a very small offer prices from that was the best value, one of the latest on

e month of the price of the one-largest at S.
for a &quot;We buy this week as they can&#39;t have bought or even more than jus

t as a little over-h are not only four, or less in the new, B&amp;nbsp, &quot;C.
The &quot;We; &quot;It, the sales prices to pick pricesp for that I just have a 

few products the price in their average of sales.
 (Ntc-tear-year store that are also now offer-fil.) Tj T*

BT /F1 12 Tf 50 372 Td ( That&#39;t be a market.) Tj T*

BT /F1 12 Tf 50 360 Td ( &quot;All and high-dates &quot;Hale of the number of our home to find that you ) Tj T*

BT /F1 12 Tf 50 340 Td (can&#39;t think you&#39;ve comes one or fall have gone and the market at first t) Tj T*

BT /F1 12 Tf 50 320 Td (o spend, this? What you can&#39;t sell for a strong, one of luxury on the high-g) Tj T*

BT /F1 12 Tf 50 300 Td (-shak, on top the company, and high-year price-long and they say what they come ) Tj T*

BT /F1 12 Tf 50 280 Td (of your 5/.) Tj T*

BT /F1 12 Tf 50 268 Td ( &#171;Ð�Ñ� Ñ�Ð´ÐµÐ»Ð°Ð»Ð¸ Ð¿ÐµÑ�Ð²Ñ�Ð¹ Ð±Ñ�Ð°Ñ�Ð»ÐµÑ�, ÐºÐ¾Ñ�Ð¾Ñ�Ñ�Ð¹ Ñ�Ð°Ð±Ð¾Ñ�Ð°ÐµÑ� Ð±ÐµÐ· Ð¿Ð¾Ð´ÐºÐ»Ñ�Ñ�ÐµÐ½Ð¸Ñ� Ðº ÐºÐ¾Ð¼Ð¿Ñ�Ñ�Ñ�ÐµÑ�Ñ�&) Tj T*

BT /F1 12 Tf 50 248 Td (#187;.) Tj T*

BT /F1 12 Tf 50 236 Td (rur.) Tj T*

BT /F1 12 Tf 50 224 Td (rur.) Tj T*

BT /F1 12 Tf 50 212 Td (rur.) Tj T*

BT /F1 12 Tf 50 200 Td (rur.) Tj T*

BT /F1 12 Tf 50 188 Td (rur.) Tj T*

BT /F1 12 Tf 50 176 Td (rur.) Tj T*

BT /F1 12 Tf 50 164 Td (rur.) Tj T*

BT /F1 12 Tf 50 152 Td ( The general rule for the conversion of (any type of) odds into an implied proba) Tj T*

BT /F1 12 Tf 50 132 Td (bility can be expressed as a formula:) Tj T*

BT /F1 12 Tf 50 120 Td ( For instance, in the above example, you would win $61.) Tj T*

BT /F1 12 Tf 50 108 Td ( If so, the implied probability is 45.) Tj T*

BT /F1 12 Tf 50 96 Td ( \ end{aligned} â��(100+250250â��&#215;100).) Tj T*

BT /F1 12 Tf 50 84 Td (50? The key is to consider a betting opportunity valuable when the probability a) Tj T*

BT /F1 12 Tf 50 64 Td (ssessed for an outcome is higher than the implied probability estimated by the b) Tj T*

BT /F1 12 Tf 50 44 Td (ookmaker.) Tj T*

BT /F1 12 Tf 50 32 Td (If you notice, the total of these probabilities is 104.) Tj T*

BT /F1 12 Tf 50 20 Td (76), no matter which team wins.

40% to 1%.
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